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4. The currency of Belgium is .............
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7. Modern computer was invented

DY dirvisiais
(1) Newman
(2) Bill Gates

(3) Steve Jobs

(1) Assam
(2) Odisha
(3) West Bengal
(4) Manmpur

B TR cenosers S USRS Sassolieh, T4 e :
(1) e

(4) Charles Babbage

(3) o endy (2) wi» o
(4) PO i (3) @B

8. Kunchikal Falls are located in the (4) U"&‘

following district of Karnataka. 10. &15 musician T. R.
Eoﬁmha

(1) Shimoga lingam and N. Ramam are

(2) Mysore associated with ...

(3) Ballari (1) Guitar '

(2) Violin
(3) Veena _
(4) Flute :

(4) Tumkur
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(1) Teaching is a tripolar process
(D Teaching is an interactive
process

1 | (3 Teaching is an art
 {# Teaching is static process
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12. One of the following statements is

One of the following is a social
reinforcement specially for mentally
retarded children.

(1) Smile

(2) Money

(3) Food

(4) Sleop
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not related
10 preactive stage of Hé ancing speaking ability of
1

dren with hearing loss. the
tramer shouldn't ...
(1) always use one language
(2) face towards child
(3) speak small words

(4) shout very loudly




15.

16,
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As per RTE 2009, the minimum
number of working days specified
for classes 6to Sare .

(1) 220

(2) 200

(3) 180

(4) 224
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Following 18 NOT related to

nondirective munselling.
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express problem

(2) This1s known agcl) %&md
counselling m
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(4) C rmri‘naﬁnr acts as a facilitator
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¢ Sitaram, a school teacher, never
takes the opinions of others. He
takes decisions by himself and
instruct the students to follow.
Sitaramis a ..........
(1) laissez-faire leader
(2) permissive leader
(3) participatory leader
(4) authoritarian leader
TR 5 2.8 SR OIS MysP B0
GO, SRS, dares o9
b:&az‘.:awm OWO Lo =R

(3) T doograel’ AR G 255

. -
=l _.'.--
i 1._- il L
4 .'t el g 1_1-’._.!:'-"'.- ;
et et I'_fu"'l' M
Lll Il| &

. e

o |
|]|1"‘f:.':_ il r i

i
"




19. A project shouldn't have ...
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(2) aplan
(3) artificial environment

(4) an activity
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20. Gopal learned vocal music. Now he
wants to learn swimming. Here the
tranafer of learning 1=
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(2) positive transfor o ,..,._"&’
(3) negative transfor “{\T}b:rn 5 b

(4) bilatoral tranefer
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then Sanskrit. In Hindi oxg
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(1) repression

<) proactive inhibition
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(4) Zeigarnik effect
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examination first studied Hindi and
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mly Sanskrit
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24. Maslow called the needs necessary
for the survival of human beings
ns
(1) safety needs
(M esteem necds
(3) physiological needs
(4) self-actunlization
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25. A parrot astrologist trained his

parrot to pick the card only when he

moves his right hand. But the p;l?ﬂﬁf

started picking cards evgly ﬂlhﬂrﬁ
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Skinner,

(1) Fixed interval reinforcement
schedule i

(2) Fixed ratio reinforceme

schedule

(3) Continuous rmE(@a

schedule
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The third step in observational
learningis......

(1) attention

(2) performance

(3) retention

(4) reipforcemenh y
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31. Oneof the following is not in the sub

im o > | tests of Weschler intelligence scale
e s for children.

exeboptusten Bins S0ued. (1) Block design test ( o
m qﬂw i (2) Object assembly &

(3) Draw a [:.-r.

(4) DK s (4) ( ‘-"nm‘
2P o5 assbyostd sby
i 2o 80y (2) S ioy

(
bQ- D5 38y (1) esdh

The mental age of 10 years old

1 (1) attitude  (2) aptitude
(@ persomality (4) intelligenge
| l’-“g’l"ﬁm Narayana is 6 years. As per 1Q, he

may be classifiedas ..............

(1) i1diot
i e (2) imbecile
. 30 i;- araun to answer the (3) moron
' i'q.!._;,.__ll'T.; n an interview. Sankar (4) average intelhigence
i weeping in the interview
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33.
group’ means ..

(1) the group which controls the
experiment

(2) the group which is not affected
by the experimental conditions

(3) the group which conducts the
experiment

(4) the group which was kept away
from experiment

SN 3555 St
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34. By watching the model of cone,

able to draw cone 1n

different angles. But in the nblen

Ramu 1s

of the model of cone he 1s
draw the cone. ;\ccurdirq 1aget
heisin \b
(1) sensﬂrimutm?

(2) preoperat Stage
(3) form &rational stage
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operational stage
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(level [1-stage IH 14
(2) conventional morality
(level Il-stage V) =~
(3) post conventional mor:
(level [ll-stage V)
(4) post conventional mora
(level I1l-stage VI)
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The mental development of a child
1s slow. So his moral development
also become slow. The principle of
development related to thisis.......
(1) principle of predictability

(2) principle of continuity

(3) principle of uniformity of pattern
(4) principle of interrelation
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37. Satish 1s not interested in doing
homework. And at the same time he
doesn't want to receive punishment
from clase teacher. The conflict of
Satish 18 .......coons
(1) approach - approach conflict
(2) approach - avoidance conflict
(3) avoidance — avoidance conflict
(4) double approach - avoidance

conflict
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38. One of the following is o@jg

relation to NCF 2

(1) Awarene ironmental

% permeate entire

rnculum

¢ arts should comprise a

ubject at every stage of school
education

f ) Peace education should form a
of tﬂﬂﬂhﬂr adun ation
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40. A school management has
conducted selection test for
admission of a student into 7 c¢lass.
As per RTE 2009, they should be
punished with a penaltyof.......

(1) Rs. 25,000/- for first mistake
(2) Rs. 10,000/- for first mistake
(3) Rs. 50,000/- for [irst mistake
(4) Rs, 20,000/-

imprisonment
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and 6 months

|4 g Mmmln 000/-
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(1) SSoehs

(2) Sowbee
(3) :nGudee
(4) Soisewd
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(4) Shynet

55, POPIRINO KODy SOLOP, S Serm
o5eln
(1)
(2) nT:s

SeeE
(3) 5D\
(4) Box
56, 308 ised’ Shnaten dautd® svess
XD HegrEr LY o
(1) 2o

(2) =&
®

57, Rl ol Ko ste @v
(1) S&s08 @

(3) wes

(4) “ess

(2) Srov
&
(3) o
T <
Eﬂ$m Daori 3 5oy ‘s’ S
™M O Noend SRR
(1) &

(2) 20

63.

64.

&
L}
o A Lt
¢ [T . T
@ rdrda kg
! '-."IJ.I_ 1 " .-.
[ o i
rnt
ey )
e il L

5o Spo JEMfSohn e B8, 3RS
3500 UD SR3 elo '

(1) oo

(2) 30

(3) w2

(4) JeA r

5 Uiy N3 AHO
(1) =3 '
(2) 33

(3) 13,

(4) =3,

Ts 300 TS et ey B8 Ne
EEes e U s SRR

(1) 30, e

1Y
¥ §

Y

3)



BOOKLET Q

: METHODOLOGY
05, o o30 By dexEre Sawodo | 68, DoyeTal souchow oo BOLOIrTL
B s Oess S SEees
OO DGLeLRB. . (1) e 550
(1) P56 (2) 355360
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(2) Brpsse 9@

(3)
“ S50

67.
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71.

PART-1V
LANGUAGE 11 - ENGLISH

[dentify the correct suffix for the

words given below,

75. Identify the antonym of 'hs

BookiET N
|.'_..¥
—=

(1) Peace
A Suffix (2) Tranquillity Fed
(a) doubt (i) ness (3) Disturbance o el
(b) high (i) ful (4) Calmly
(111) ment

76. Read the sentence.

(Dfa)=an, fb)=hu) Hirachand told about w
(2) (2)- (1), (b)-(i) (A) c
3) (a) - (), (b)-(i) happened =
(4) () - Gii), (b)— (i) (©)

tells us about the

Which w rﬂ@(
earh L

79. ldentify the 'synonym' of the word in the sentence?
'very small’. @ nd (C)
(1) tiny b (®)
(2) Itth.n,Hf_k,plu - ¢ (3) (B) and (C)
3) mgantic
:;Lfij'l; ?n:i;zmﬁc;mt. &\ ek
73. Which of the fol words does | 77" Read the sentence.

: 9
not come und icinal plants’

(1) Gin

{‘3@“
$ < 'l'lif

) Palm

I can recall those happy events.

e
The word underlined shows ..........

(1) belief
(2) conviction
(3) ability

(4) determination

74. What is color 'azure”
(1) Red
(2) Sky blue

(8) Green




likes

f=4
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in thu sentence,

1 10

ssssssinnnnes N8 801 ONtO the

i that can ﬁll |

singing. | 81.

© Identify the correct sentence you will

- ; get if you combine the above
. o sentences.
::'" a (1) Vimala likes singing and as well
| as dancing.
(2) Vimala likes singing but |
dancing too. 82.
(3) Vimala likes singing and she
likes dancing as well as. [
_ (4) Vimala likes dancing and
singing. '
79. What do you say when you see a
man who is eight feet tall? o
« (1) How tall he is!
| (2) How tall is he!
.}_c-‘ b (3 How tall she is! *9
(Q How big is he!
Tz el

b ol
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Identify the two words / phrases
which can fill in the blanks in the

sentence.

(1) wnting
(2) was write
(3) was writing ...........

lllllllll

lllllllllllll

lllllllllll

(4) was writing

Read the sentence.
I must stop at the tr
Here the untlta'lil

érntif}' the passive form of the

sentence,

Everyone in the village liked rip.

(1) Rip liked everyone in the village.

(2) Rip was liked by everyone in the
village.

(3) Evervone liked Rip.

(4) Rip was being liked by everyone
in the village.

Identify the correct set of words to

fill the blank in the sentence,

If you do not water the plant, ........
(1) it would die.,

(2) it will die.

(3) ltl:an die.
(4) it wi vill had died. ey
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g5, Identily the correct pair of words | 88. Identify the correct set of ﬁl!-l'lfltﬁﬁ o
that fill the two blanks in the complete the sentence. g ]
REDLEICS: | This is the book ... el !lillg'}_ -r'- :'.
Mohan has........ friends........ school. (1) which I'got from grandp‘i sle .
(1) many......... at | (2) who my grandpa gave me o -'i
(2) much.......... near (3) where I read stories & |
(3) alittle.............in (4) when I got it on my @y
(4) lotof.......... Inside
89. Identify the a@nca which
86. Identify the correct pair of words / contains a
phrases that can fill in the blanks (1) Shﬂx %ecn learning French
in the sentence. Q
Father to son : Your exams . @ ! saw lim smoking.

F ) {3} Smoking is injurious to haalth.
% *t

Are you studying .......
(1) nearing.. mnﬂu%?i (4) Why are you standing i in &u'._nt.
(2) are approaching %1 ly of my house?
(9) coming.......... ; wy 90. Identify the correct quentiu:-m tag for
(4) are suﬂn iﬁa} .carefully i stataniaol
87. Identll}.'t;l;iurrect sentence. I've met you before, .............
I:(l} Slddu is heaviest boy in the (1) haven't I.
N\ *croup. l (2) haven't 1?
{2] Raghava is older as Rajesh. (3) didn't L.
(3) Harini is nul'; so tall as Prem. (4) 1sn'tit?
(4) Vamsi is tall as Ramana.
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%" Read the following passage. to Delhi. He had a box of

- 80 apples in his luggage. The conductor

ROOKLET @

passenger, named Raw, was travelling from Shimla
: asked him to pay for the luggage (apples),

Ravi argued that the apples were given to him by his friend in Shimlia for the members

of his family. He also said they were not for sale in Delhi.

The conductor did not listen. He insisted on |
Rs. 100 as luggage fare. Ravi repeated his argument. The conductor repeated his
demand, stopped the bus and asked Ravi to get off.

Just then a clever passenger took Ravi's permission and distributed lh@
to thirty passengers on the bus. The dispute ended. The conductor un

payment of

anything but start the bus. Q
When the bus reached Delhi, the passengers put all tI5 a o the box and
Rawi took them home. &'
ir comprehension.

Now answer the following questions correctly ln@

E@‘v did the conductor allow the bus

to continue its ilhll'l‘fl'll."‘-+

91. Why did the conductor ask Ravi to
buy a luggage ticket? Because lw

thought .... (J
(1) Rawi muld give him o) wo |

(1) kEach ol the passengers had only
T Ya W, one apple each.

. (2) The apple box was empty and

::; f:: :Il m:i?:; the ispecting oflicers would not

% find fault with him.

(‘} Ra Blp]ﬂu-!wllur. (3) The apples were hidden under

® one of the seats.
(4) Ravi bought a luggage ticket.
94.. Who showed love for the members

was not willing to buy a

luggage ticket.
| 2) The pmnm objected to Ravi of Ravi's family?
l.'.'-ll‘n'il'lg apples with him. (1) The conductor
3) npplu were given to Ravi (2) The driver

(3) The copassengers of Ravi
(4) Oneof the passengers on the bus
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95. [dentify the correct statement on

teaching reading in English,

(1) We must ensure that pupils
read silently
comprehension, 1

(2) Our pupils must read fast at the
cost of comprehension.

(3) Our pupils must be taught to

read slowly with 100%
comprehension,

with

(4) We must encourage our pupils
to read aloud all the time.

[dentify the correct statement in
FEnghsh language teaching.

96.

Oral presentation must be followed
hy .

(1) reading by the pupils off the

blackboard. ® @
(2) speaking by pupils. \
mhe

(3) writing of own sente
teacher. g
(4) reading thc% passages

by pupils
In the e&tive' method of
teac mmar, the teacher ......
§(2) gives a lecture on how grammar
functions in a language.
(3) begins with eliciting examples
and arrives at the rule.
(4) highlights the importance of
grammar 1In learning 4a

language.

97.

ins with the rule and goes on
to give examples.

98. New English textbook materials are

(1) intensive reading.
(2) extensive reading.
(3) intensive and exhaustive

We teach puﬁms&u&e want
g )

\vmg [ reading poems

reading.

(4) intensive and exhau

reading.

99.

(1) toe
ve pleasure.
cppreciate poetry and poets.
é{n learn new words
(4) to consolidate the language
learnt through prose passages.

100. In a test on 'cooking' the following

test item was included.

Identify the price of an electric

microwave oven.

a) Rs. 5,000 b) Rs. 10,000

¢) Rs. 2,000 d) Rs. 7,500

The above test 1LeM 18 oueeeeessees

(1) not reliable
(2) not valid
(3) reliable

(4) valid _

|
i
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Raj system is provided by ...

(1) Article 40 under the Directive
Principles of State Policy

(2) Article 41 under the Directive
Principles of State Policy

(3) Article 43 under the Directive
Principles of State Policy

(4) Article 45 under the Directive
Principles of State Policy

sSeorand of il v BT 720
(1) wdissroet™ 1035 olXme
(2) Wiz ool 413 ulXero
(3) iy oot 4135 e0%rme
(4) wdiyiororelh 155 eQNew

102. The nonaligned conference held at
Djakarta felt the need for reducing

the political supremacy of ........

(1) USSR . (2) Amencea
(3) England (1) German$®

o’ o ol o
1St Ay, oedan
RPLOWON sissnsiesnns

(1) USSR 9'9:,

(3)
103. Me lmc- constituent
were chosen through the
| irect election
‘g‘-i indirect election
1o e 9 dire t appointment
o .'-'}_E.H rect nomination

I'.l.r

ety
-
s lms,

.J-" ¥ i

-."--'1. e at
L b " AL e

| e e 4 - e =N
i _'_-,' at = % . 1- i
¥ . F . . L2
o L T -'.. T

| "
| Lo
. - t
"
¥ N

105.

106.

o

& @inmm Desai
'-l'ErL._ - T TRT - il il '-i-lr - Il.l'r
L el ST e U e TPRO0T LY Tl

Y Bones daice Salngon

f“-

. PART-V
@' SOCIAL STUDIES
it ) ia, 'Ri te' was
92 in India, Right to vote's
R e prridedly . | :::r:s?dml“t‘nc]cnt one of the following.

(1) Provincial r:nunr:ils 1 |
(2) Central Legislative Council

(3) Council of states

(4) Federal Assembly
o5 Dot 1892 6 D36 LI R0 3
Thaoeds Loty rotedol.
(1) Deadats T Loldy
(2) Sos s doell ::

" ﬂ]ivﬁ were

{3] T--_*E '-'-r:'r r"'r
+ the prime

(4) dewbuned

The hife insurance
nationalized #p
ministersb iy
(1) N :

(<)

1‘h K B
@]Im (Gandh
3) Wab B ahadur Shastry

w

(1) el edpv

(2) 3200 3000 el

(3) odurualay

(1) Rod Eancl

The Universal Declaration of
Human Rights is approved by one
of the following organs of UNO on
10" December, 1948,

(1) Security Council

(2) General Assembly

(3) Economic and Social Council
(4) Secretariate

1948 &owts 105380 Jigsmss trio,0

SO 30 SI00 Aoy, B ewonsw
CRr0oel.




107 'SAARC' was launchedin........... b ooy GG ARSI P B
(1) September 1986 ) \
(2) October 1987 ugoé‘mm .........
(3) November 1988 (1) 1935 P86 BEctste
{-I-'I] I]Efﬂ"l“ht‘r 1955 tE} lgﬂg w‘&é:‘- % :ﬂ'h-
26, (SAARC) ¥+ i5056.806 Dendod (3) 1919 5retiv-TRosbitc Ero o
(1) whewts - 1686 (4) 1919 oS v
(2) oS'ets - 1987 110. The State Executive consists of the
(3) wiewto - 1988 following members.

(1) The Governor, Chief Minis

(4) &howte - 1985 and the Council of Minist

108. The Willy Brandt Commission in (2) The Governor, Chief ¥ -

1980 called for ........ :’1‘[‘1{! Speaker B e

(1) narrowing the economic gap (3) The Gﬂ?Ernﬂ telécl r‘;]
between rich and poor nations ‘h’ilnlster&gn aCo E“fa‘-l i

(2) establishment of peace among (4) T}?E‘C tc:- uncu o
the world nations Mim d employees

(3) to ;.-.-n_nl wars among world o ol s T horeonss
countries B

(4) to suppress the aggressive ,\w
nations f&ﬁ ?@W@m}ﬁﬁw

- . g 3
1980 & 20 ol S e g J&p ¥ 10, Sopgio® Helaixn o3t
DN reesises WY

(1) S5-525 de &

GhowPR3 - (4) Soopgioo®, Boo@lootd Solaie
(2) 20w oo %'@bﬁﬂ@ﬁ ﬁ-ﬁ?‘bﬂ.}

(3) 530 jﬁuﬂ :;% auoress | 111, The District Judges are appointed
i by one among the following.

(1) President of India

. ‘-tl o SO SRR (2) State Governor
109 .L ¢ first (3) High Court Chief Justice
@%;ﬁ;:h;z;ﬂ}ﬂed caste' was firs G Chiseae
(1) TE;BGwernment nf Incha Act of B oo Moo & ﬁ:ﬂ::ﬁ ﬂhﬂﬁ‘
(2) Morly Minto Reforms Act of £I0 RO, \ :i-
1909 B¢y m::ﬁa
(3) Mnntague-ﬂhelmsfurdRefo;ms @) ounsed
Actof 1919 : S e) e R
(4} Rowlatt Aﬂt ﬁﬁlﬁ e Fﬁ*‘-:':h

:::::
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| '!'fmﬂm.diﬂ SP—
et ams (JRY) essite

(4) 1991

113, According to the Preamble of the
Conetitution of India, India is called

l- PER T

(1) sovereign, socialistic, secular,
democratic and republic

(2) socialistic, secular, sovereign,
democratic and republic

{(3) democratic, republic, sovereign,
socialistic and secular

(4) sovervign, democratic, republic,
socinlistic and secular

Rozgar Yojana (JRY) | 115.

: D 3 WSO
L = o L
P, 1) e USMOWOD

T17. The main object of Mohammad

2 agreement was made between
! and China regarding Tibet,
(1) Panchasheel
~~(2) Nonalignment
- (8) Commonwealth
‘ (3 A lﬂ of nonviolence

’
L o N
Sl |

B B

|_|-|'|.

¥ i - [ e

i . |-|.-..r i
s
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o .
The term, 'Democracy is derived

llowing language.
from the fo e

(1) Greek :
(3) Germany  (4) Spanish
T Sisto U sl dsssiudel,

(2) PoS

(1) dso r
{'l} lﬁ‘_‘:r;h

(3) e y
All types of material remains CQINGS

under....... .
(1) hterary sources

(2) archacological :zmlnc
(3) modern sourcg &
(4) foreign souREC!

1186.

Ghazni frequent rards on Indiaas ...
(1) to establish Muslim rule mn

India

(2) to extend his Afghan empire
into India

(3) to plunder Indian wealth

(4) to propagate Islam religion in
India

PO et s E B St e

(2) b0 wPs Mg Pos Siest
i$0css Baluse
(3) oo deassn Shashiue




119.

120.

of the following.

(1) Interstate relations

(2) Civil wars

(3) Peace treaties

(4) Religious wars

sriseion Tish e B ex
(1) uﬁﬂhfﬁ?& Hotoey

(2) coblatros

(3) Toblofow

(4) oo

118. The very nature of Crusades is one

The Chaleohithie age was followed

) gy e

(1) prehistoric age
(2) paleohthic age
(3) new stone age
(4) bronze age

O Sordlioslio BURS e dislio Bined. .
!

.....

(1) SO
(2) wrois sorcasiio
(3) L Jocvosahio

(4) Seuecisie

Truman Doctrine

(1) send mlllt
urkey

(@)

(4 ;¢ democratic nations

fJ -:;‘ﬂ'd":'

(1) @mmygm

0¥ 5D, Sopw

- (2) s uotsem P SR8

B @ @aﬁmmmw
N

to Gr eel
send zﬂ'y against Russia
(3) h ; poor nations of the world

(Doctrine) &30 &3

U2
: \
* posal

unumu: aid

121. The Hindu ruler of Si
of Arab conquest was ..
(1) Harnhamdhﬂuﬁ
(2) Yasovarman »
(3) Dahir
(4) Raja Jayachandra

:m Mm FEsmsEssEEEES

(1) SgaEs
(3) omnd

122. One of the following deag
r

the city of Vijayanaga
rings of furt.iﬁcatin&'
(1) Nicanlu@u

(2) Dami
(3) Abd

41

hat
seven

aq

bmmw&&rmﬁ‘gﬁ‘m

6 Gl atpes Tl
(1) 5% :

(2) crisefifah
(3) ewbies
(d) sr&

123. The beginning of modern age in

Europe put an end to .......cooeee

(1) monarchy

(2) democracy

(3) feudalism

(4) autocracy

e’ esgionsoistio estiosiaibnd S
m WM sessssnmsnnann " '
(1) cedlo -
(2) Sedgioe PO EwY,
(3) magan
(4)

p



 The primary cause fnrtlmuutbmak [
~ of the American Revolution 1s ..

(1) influence of renaissance

(2) influence of industrial

revolution ‘
(3) the colonial policy of England in
economic matters
(4) the American people wanted it

GU0r e Dege TN 30

(4) o> pew Shasyotte
Napolean became the ruler of

(1) with the cooperation of French
people

(2) by averthrowing the rule o
Directory

(3) the Directory invited hi

126. Ajant

127.

128.

BOOKLET @

a and Ellora caves are

associated with
(1) huge statues of Jains

(2) ancient forts
(3) wall paintings
(4) stone implements

sroor Mo Ko HIE L 0

(1) gamﬁwmbg:w&
(2) o Bwes
('O

lllllllllll

(3) mis (A'6) Dre
(4) o0 ST
@mq in Indian

Q duced by .......
1 Abdah

d:l{ hnrl

The canno
warfaregve

(1) e wpd
(2) Srinh $5%0
(3) eo0859Y
(4) o

The Russian revolution of 1917
conferred on working class
(1) hike in wages

(2) reduction of working hours

(3) minimum wages and insurance
(4) the right of ownership

1917 2y S50 @20 S003 B womd)
(1) oo ey




129. The policy of appointing only

Europeans in all best job
- doptedby & Jobs was first |

(1) Warren Hastmgs
(2) Dalhaosie
(3) Cornwallis
(4) Robert Clive
EPOBEDE DO TED vy Bateiocd
;ﬁE‘ﬂD 200 oloTy
(1) =S el (2) alisvhy
(3) TS (4) oufas
One of the following is considered to
be the base for modern communism.
(1) Socialistic principles
(2) Teachings of Friedrich Engels
(3) Das Kapital
(4) Drain Theory

S0 RIS SIS (N0Nm Hst
PR

(1) Sl sroTred

130.

L-p'—l" -..i

132. The inscription of U
found in the districtof ...

(1) Tanjore
(3) Madhura

(1} Gewmgre (2) :ﬂm
(3) Skl (4) S0 |
The system of maintaining Br'itinli

forces in their territories and pay 2%
its maintenance by the native

15 called o
(1) permanant settlem
(2) subsidiary alhance

(3) doctrine ufln D&

133.

iiiiiiiiiiiii

(2) DEOE o, B0
(3) >R >bed

(4) @oon g

In India the earlies

the gn(:graphicalﬁ
n

131.
vered by ...

(1) rnivers Go d Krishna
(2) the ir-‘%‘- of Vindhya
mmmt:ﬁ s
@) rﬂcrs* Brahmaputra and
i b nﬁh’lﬂﬁﬂ
Wd) eastern Afghanistan and
% Punjab

B0 estogeo o6 B¥oEW Ba PROS
ProB0s’ Do,

(1) Aorisd wadain $etos ote

(2) WM
+- -~~'(4} W '''''

I"rl ||.

'n.

| -_I-;llli

lived in |

(4) Sl S0

134. In the history of the world the year
1830 A.D. 1s associated with ......
(1) travelling of first train in
England

(2) building of safe roads using
stones started

(3) America started iron industry
(4) postcard system was introduced

BSen BOBE" 4. 1830 B ScooRd
Tt DUC0E SOt iRINOD weressnens

(1) zoliotnd® Aty  dom




135. The first nation that rstnhliah_cd
colony in the continent of Afnca

(2) Bulgana

(1) Belgpaum
(4) France

(3) England
Wb potied’ Dol PO B a0

(1) Chaie (2) wdlair
(3) gerots (4) P

136. According to V. A. Smith the
Chalukyan migrated to India
from ...

(1) Eastern Europe
(2) Persia

(3) Central Asia
(4) Baluchistan

V. A -:-u O Saiedt Teore U
mmmim:z.;.—u_; .........
(1) ooty 20>

(2) 2%

(3) -#;um‘i?

[4]

137.

Thu battle of te l%'ﬁ"lﬂ
fought .......... *

(1) among Drawi

(2) between D and Aryans
(3) among r}"&’ 1bes

(4) hn@ vans and Indus

aoze (battle of ten kings)
m EREFRREAAEE S

(1) Psony,

o

138. The part of

139.

BOOKLET @

ipvocation in an

inscription jscalled ..o

(1) prayer
(2) prashasti
(3) denounceme nt

{ l} {i{‘*l r:;ﬁtI{]Tl

UOLTD revens
(1) S (2) &%
(3) DY (4) ~ert=

For the sake of administ
convinence the te rrilarics r

the British in [mhl y ".llil :I
imnto

(1) revenul A

() states &\
) presi
i

‘H"‘u - J...u ..':"nnprh =|..n....='l' "*"'lql:h.-d'
1) Tuiemes (2) Sates

(3) Baiaw

(1) 2w

. In view of Hobson one of the main

featuresof capitahsmis .. ...

(1) to extract labour at cheaper
rates

(2) to make use of child labour

(3) use of labour along with
machinery

(4) fixing of the wages at low level

-‘iﬂﬁﬂﬁ?ﬂﬁ:ﬁ??ﬁ: SiareCon l',-"':ﬂ_,,:ét_:*;}
% wﬁ u;m LI I |

(1) @iy T Dedue

(2) Pordies auarhomn: oo




141. The most accepted theory with
respect to the origin of the umiverse
15 proposed by one of the following.
(1) Immanuel Kant
(2) T. C, Chamberhin
() I°. K. Moulton
(4) George Abelimitre
oS ol ColSUGIMNIASY TNy

- -L-'Fi- . i

P W O - | A o .

e th—l": o W 3 T e
- L o s

CON e i =

i) .-m_n-.r‘a- -w:"'f = Ve

iy . 4
(2) T. C. ondo

' I F
'I-Jl_.l E' I':. -b.-u":";-:-.f

5 = -
- A .

{2y o=, ¥
ll B il -l"ll—!'lul-ﬂu'l:u"\h!

142, One of the lollowing denotes the

distance between earth and sun in

nitihon Kilometers

R, [ -.."‘-'...,-.1."-"'-‘-"'.-"-1"ﬁ-
i h.._.'\-\.-l'--ﬁ-lan-n-'-- ¥ e i’ tar b | Pt i gt
-

L T P l-.f ._‘F'_t._‘i,L._.._ I-'_i)
- _l-l---..-r'\‘_r'c.-n.l--d Pt o Sl W -.-.\.-.."-Ju-
(1} 1.34.4
(2) 149.4

(3} 152.6

(4) 1643

143. The lower layers of t ,
are heated by one ot ®

ition

(1) Solar radiaty 1
(2) Terrestrial ri

(.3) |n.-en|*1 €

(3) SoGpeas

following. e ol Wy

(1) The line joining the plases
equal hﬂ-ighlag ‘M :

(2) Line drawn to join North pa
and South Pole

(3) Line drawn at an equal d
between South Pole and Nonth
IPole

(4) The line connecting the pla
which receive equal amou
temperature

=
g

n -
Aol covew

(4) L3 oiiece 3BAYY

Youpar s S

145. In ancient times the area called
‘Brahmavartha' was located
between these rivers,

(1) Ganga and Brahmaputra
(2) Sutle) and Yamuna
(3) Brahmaputra and Saraswati

(4) Narmada and Tapt

S Teed’ BRI hutadn Dete
T4 Tols W00 Wog 00

(1) Hoh 2Wlales Do
(2) REE So0aty oSS
(3) ERO Sl 30
(4) ST5 2O BN




s

| Iilﬂnn of the following !s the most

'ﬁt populated country in African
continent. & Gotign
(1) Egypt OnKo
(3) Zambia (4) Nigena
i soi oy U1 Do 603 P
SAgeS.
(1) G885 (2) 2o
(3) melcir  (4) pECAR

147. Moligoan is associated with one of
the following.

(1) West-central raalway

(2) South-central rallway

(3) Northeast frontier ratlway
(4) Northern railway

IS U S0 G senele

28,
(1) S o T
(2) &drs o5
(3) Loy Srodanl T2
(4) GOUTe

148. David Livingstone 18 ns

~ withoneofthe fulluwiv*

- (1) Exploring Wﬂtﬁc

(2) Invented sea eylon

A
% L0 Soworan, 50N
F,

149, In India sot

R
[

. One of the ﬁ]IhQ@Inﬂtﬁ Moves

(1) Voenlts
(2)
a arth

BOOKLET @

ithwest monsoon winds

blow only in one of the following

SCASONS.

(1) Winter

(2) Rainy season
(3) Autumn

(4) Summer

U e B 0 LT G
ot <R

(1) Loo

(2) sorroo o

&

(3) %ed oo

(4) s oo

on IS own o speed of 1610

k:]r:nwnlr&lr.

umter

e.‘,;}é‘ LIPS O e P BHNPoN

o

How 1610 38%00 Sic’ Susrtteed.
(1) oo

(2) St 1’

. The amount of insolation received

by earth on an average per square
centimeter per minuteis..........

ST G000 LMY Deudtonth Dol
::..‘ :Ji E:"%W:@W-tl-
(1) 2calories

(2) 5calories
(3) 6calories

(4) 9calories



'j 152. Thane and Mumbai are related to
one of the following in the context

(1) first textile industry was started
at both the places at a time

(2) first airport was started by the
British

(3) Iron and Stecl factory was
established by Jamshed)i Tata

(1) hrst railway line was laid

between these two places

TV e 0Oos Sesetcas oY h:l.cn 206

(1) Sl “‘E".ﬂ 50 &30 waelEte
UKD

(2) D35 38 ISl JaoiEoss
MeLoTw

) iy oo gus®
SO ST \

(4) C1Tols ?:-E'u

'i
153. One of t
originat E
¢y Hé«:
; &ve Nigoer
IPRiver Nile
&-1} River Zambez

I8t L3 0 DF00R a6t el Diet
(1) sveffan
(2) pnbun

| (3) pbwa

(4) odsn

gs!

LW

wWing rivers
e Victona.

154.

155

156,

Isopleth or maps draws
months of January and .
explains the general char:
of ...

(1) thr: hmght of :m

(3) the climate of an nrh: BT
(4) the length of a rainy season of
an area ;

following years
responds to the establishment of
ata Iron and Steel Company at
Jamshedpur.

D36 L3I e e &k, SoyRto
PR e Senolelng

(1) 1902 (2) 1903

(3) 1905 (4) 1907

In India the southwest monsoon
winds give much rain to one of the
following districts.

(1) Coastal Andhra districts

(2) Tamil Nadu districts

(3) Coromandel districts

(4) Telangana districts

PO Tiod' oD st Ses e 1300
PRE LY Dol cON ST 3.
(1) 5% wog 2ow
(2) Bt Sows
(3) Scbsgw
(4) aom-ﬁep



having cracks or pores in
nwnlernremlled

(2) granite rock
k (4) hard rock

157. The rocks hav
them to contal

(1) lime rock
(3) pervious roc
iy, B 3 Cogres SRS ~ad
mmmﬂm SE—
(1) 33900 D0  (2) TR O

L (3) SpaRRo0dY (4) oD

| 158. The northern part of Sahara 1s
inhabited by one of the following

people.

(1) Masai (2) Bushmen

(3) Semiters (4) Pygmies

S Ak, AYE reted Lt Ly ond
LS ETR RS A

(1) 2ol (2) oSReh

(3) Soond (4) L-‘-;..u

Some of the following people
thought that the Mediterranean s

situated in the middle of the world.
(1) Americans  (2) Asians

(3) Europeans (4) ﬁmstrnlw

Se 200 DO& Ly ;;%’:&;56’
e €L

(1) e2txy e AT

u&go:i.." Pt

X118 connected

Bdworld mountain belt
CircumPacific belt
Plateau of Pen;
India of Peninsular

||||||

161.

163,

o |

(1) 30E% oSG ;;35‘3‘*?3-‘50

The plateau of 'Massif Central' 1s
located in one of the following
countries. .

(1) England (2) France o

(3) Australia  (4) Italy

LN TJ-::;;.:C'; o hugirds

<20

| bt

...!.....- i

(1) gerelo
(3) w38

following indicates the

s /
Ine th
f@ yosition of the earth from
|

(2) Insolation
(4) Equinoxes

Perithehon
(3) Aphehion

v - -\.‘ w - ™ LE ] L
Geled G L Coned - N ol

[}
'\" L - -y ]
ﬂ%&-ﬁ -.-u:"uu '-:‘:‘f{: :'L-‘—n-.'-":"..r__

(1) 3020 (2) PGS
(3) wuind (4) Sspse

The agricultural season of Rabi and
Karif are related to one of the
following countries.

(1) Nepal (2) India

(3) Bhutan (4) China

mmﬂﬁ@_ﬁm
wowRoledn Towr SAG LxEmni

= A
Vi

welooran,
(1) 3>& (2) R0 E%e
(3) g’ (4)



164. The belt of low pressure that
encireles the earth near equator is
called ..........

(1) Congo basin

(2) densest forests of the world

(3) axis

(1) doldrums

vty Lon Srotod! oo Lepdin &
ot SRS TPt 3O LoD

(1) mefd i |

(2) SWoln Ssewis wlem e

(3) uio

(1) E55ioy
165. Nepalis deriving some benefits from

one of the following Indian projects.

(1) Gandak project
(2) Ramganga project
(3) Beas project

. The Caucasian Mountains he
between ...

(1) Caspran Sea and Black Sea

(2) Europe and Asia

(3) England and France

(4) Russia and Ukraine

WS-29/TET cum TRT-511-EM/TM (3]

167.

168.

"The range of enquiry becomes ‘
restricted to that pilrl. of soci
welfare that can be brought di
or indirectly into relati o
measuring rod of muneypm said

this statement?

(1) Marsh °
(2) Ed mnan

{S}G 1gou
Q am Smith
Drchaol Rolisito, $OE Se0 D Clies

sogem T, e M,
$0s0ounl e,

(1) 50e (2) &5 S

(3) 3y 2. bR (4) sEoiS

When total utility i1s maximum,

St

=

marginal utility
(1) falls
(3) 18 zero

lllllllllllll

(2) 1s negative
(4) 1s maximum
RSN .
(1) O gl (2) wxeerdsiw
(3) g (4) moge

i ey B Quer
- I' h . ¥
o Rl
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170,

171

169. Formula l?urmnsumﬂr’mqulllhnum

BB cmiinorsrens

How many public sector industries
were reserved as per the report of

Committee  on

Rangarajan

disinvestment of shares 1993?

1993 Somod® Dassesd disisentes YD

SHBE ot Be r.:.m e
ST Oy

(1) 8 "

ol \(~

One of the hr- National |

'Pppuln oniPakicy, 2000-2010 is to
mortality rate to below
one thousand live births.

e |_‘||H‘TE ‘..

172. As per th

(4) 40,000 and 100
173. One of the following Ian:

BOOKLET @

o Human Development

Index, maximum and minimum
values for mlculntin;, of GDP per

capita (PPP USD) 15
s efip0 wpoy Emii Sl o

B EE

DR KO, B Dowes (B0 G

G35 EEts) WD s
()c

(1) 50,000 and 300
(2) 60,000 and 300
(3) 40,000 and 400

hl

caused by an lll¢’=:1 the

aggregate {1 mmoditics

over aggr, pl}' is called
Bush inflation

as.......

thnﬂﬂlmn
. ﬂml pull inflation
*ost - pull inflation

6° Kot My dold Dt eShoyeso
(1) &snol: - $06 EShayro

(2) e 300 sheoro

(3) dzrck nts i

(4) o Bro oo

174. Who defined money as "anything

whichisw Idﬂl}' accepted in payment
ﬁ:fr goods or in discharge of other
kinds of business obligation"?

(1) Sehgman  (2) Robertson

(3) Crowther  (4) Keynes
w%m&;:&ﬂqw-rh;m
D00 50 ™ Wey m Dyyeem
umamm%&'rmm
Ca*"

(1) HER2S (2) oufis

@5 5

%12 "
L E L E— “
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1756. Fiscal deficit is

(1) Fiscal deﬁmt (Tntai revenue +
Total expenditure) + market
borrowings and other liabilities |

(2) Fiscal deficit = Total revenue —
Total expenditure + Interest
payment - market borrowings
and habilities

(3) Fiscal deficit = (Total revenue —
Total expenditure) + market
borrowings and other liabilities

(4) Fiscal deficit = (Total revenue
receipt + Total revenue

expenditure) market

borrowings and other liabilities

176. O fnllu“ ing tax is NOT
b:.r the Central Government.
ncome Tax (individual)

} Corporation Tax
(3) Excise Tax
(4) Stamp duty

177. The number of p

178.

180.

agriculture lnum' o
million in 1951, to how ma
in 20017 R o=
S teved® 1951 Honeshe

(1) 234 million (2) 244
(3) 254 milhon (4) 264
Consumer Price Index

(1) Only changes 1
selected goods

(2) oS30 Gued Sy
(3) Sobyas ey Sispo e art,
(4) eRysspoduttan,

. Total foodgrain production in

Andhra Pradesh during the year
2008-20091s ..

2008-2009 :wms‘mp gﬁm

G GO0 J00?

(1) 204.04 lakh metric tonnes
(2) 198.17 lakh metric tonnes
(3) 200.17 lakh metric tonnes

(4) 206.17 lakh metric tonnes

Eleventh five year plan (2007-2012)

identified how many monitorable
targets?
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1 183. Oneof the most important functio

# ooy, oz G of social studies i8 ...
28 Gl P L (1) lnennblnchlldtuh%
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. (2) to ennhlt‘.bl

.- i'lu - ww home
“Jﬂiwww (3) to @Jmmhucumensmﬂl

ﬂ *M&pw

&; , Air ﬂgﬁﬂohlnlmnl studies ntthu

enable child to live as a self-

oy B sufficient, useful and healthy
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184. One of the following is NOT the

advantage of microteaching.

(1) Microteaching focusses on
backward students in social
studies.

(2) Microteaching lessens the

of

classroom teaching.

complexities normal

(3) Microteaching allows for the
increased control of practice.

(4) Microteaching includes

feedback results in teaching.

3ol BOLH 26 gty asarm3

185. The suitable chart to teach freedom

movementof India is .............
(1) ®abulation chart
) timeline chart

"% (3) relationship chart

(4) genecology chart

PO RSty 1ol Shouand
S T rennannaan
(1) 32238 (2) Posn o

186.

M ARRAL
Curriculum is & mediue

which pupils ms Vo auti
achieve n‘bjac es Q
becauna

according to the r.h_ gn
of the society -

(2) curriculum has to 'Im d
and organized in a Eﬂun W
manner N

(3) curriculum material shoul
include only those topicswh
are useful i in day to de J‘fl :

not help in achmmgnhjectn of
education ..

ool WM :ﬁmpso TG Lo
O FROATVE SABTHID dotio%am
(1) WAL SPoRdl Lo XRitesomn
B DRI, Jeb¥ Doird

Q) sovgerds Piovs 3506° S0D

35]

187.

AN B § TSN

Dornssod

(3) Songiserds S Do E%0Y
20008 ASAPRE  PESeme
Gowscd

(4) &5 Wod g EePd¥ EMGo
DEPOTON MPOELES HINEDOWS

If students collect pictures and

writings of king
'SriKrishnadevaraya' and
'Ashtadiggajas’, the objective
achievedis............

(1) knowledge (2) appreciation
(3) interest (4) understanding

Dorices (BN Buoabes’ Bsbai
‘CRDREENY’ Dores HRTes hﬁﬂg
ot og s
(1) gl

(3) e33

@@
(4) e !,:f. P e




188. A social studies textbook is a useful
means of getting concise and upto
date information through ...
(1) old method of teaching
(2) another procedure of getting
information

(3) understanding the main body of
information

(4) learning through organized
situation and experience

Mooy iy DUyite GRAANILL

WWJ"""‘G‘;;‘ e s G

PR DL Jufes

(1) 20E% 850 @ welised

(2) 36 @i oo oDt
S oue

(3) SREvee W), BTGy LI
TrsoShiee

(4) 9pot¥0o0nds Mhdmes Solgy
CRG0 DO Lo 5&%

189. Social studies content

framework of sug W

suited to differe r stages

| (i ?
scope to develop

er thinking -

opics

(4) content offers better job
opportunities

190,

BOOKLET @
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P b sl wimie 3Lyl
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{-i}

l.earning may be *{hn only
change 1n

relatively %r:g
behavior . s ns a result of
, actice because ...

¢ can change the

CXpere

sonality of pupil

b’:mt:rn provision of experience

cannot bring real change n the
pupil

(3) 1t1s only a relatively temporary
change in behavior

(4) learning happens consciously

S Gl u‘r::.:z:a‘.'.o Lo0als eites o

S DOF wolalin DeITH e ST
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191. The teaching method that
encourages the students to learn
about post office through self-
CXPLeriencels ..............

(1) demonstration method

(2) project method

(3) socialized recitation method

(4} lecture method '
Dot Darss MeCoD hokh ety
DO eitiotiontd (Rognos S S50
() semsge  (2) SRHIED
(3) FepslapUald (1) o s

- Py : : 194. The following test ite
1= ‘? 5?;:31[511[:: {;h l: ;‘ Ché;::_il?éff by a social studi cher. Find the
;mc-mw : ' mistake dnrg ¢ teacher.
(1) 1t 1s a/an pohitical resource Which ollowing 1s NOT a
(2) it1s a/an secondary resource 'fun i righ!:.'?
(3) 1t 1s a/an primary resource ( to equality
(4) 1t1s a/an individual resource ight to freedom and
X \ } independency
sellottie SN 36 %ue (d) Right to culture and hentage
DTS, Joky o \ (1) Allthe answers given are correct
e (2) Right answer 1s not given
(1) o= (2) ’ (3) Question form is not correct
(3) Wreoon S (4) Question providing a clue
193. Libraryis the]ﬁ center of the ¥ PNy AgRoKnsd BosdOED
intellectual%’ y in the hiteracy ; - 4
: ; ™ S SovredoTris. Ut O
life of th tudents of social studies i 5 - =
as & @cﬁ?ﬁ:%ﬂ&é‘ﬁ‘bﬁ»-
f&; o in the cultural growth of 5 : Bots DL 16 e
2) 1t acts as an agency to promote a) SOOI,
habit of self-study b) S, ooy 5,
(3) reduces the chance of ” ot
indiscipline of pupils in the C) RoBD0I,

school camps
(4) 1t develops economic values in
the pupils

d) B0 TEN Iy,
(1) SREERTTTe GRIHN

() sposargogid |
(3) aunstn Nomds 4




195. Community is a treasure house of
rich and varied sources. It is the
most important source for the
education of the child especially in
gocial studies a8 ..............

(1) to make education a living
experience for the student
(2) schools should give up their
isolation and adopt a new role
(3) education should be of the
community by the community
and for the community
(4) the reorientation will provide
the nation the vigor, hife and
power to sustain not only as an
individual but also as nation
SN0 GeBDN DHtuo pane Nooma
“Gpe Ao, LU C LR
oY Ty S Joloded ........
() 5t lo@lus oo dotus wugiem
ooty
(2) PPees B St U0l Ly
S uiw Mol

(3) :-‘I’:rﬁ wadte Noled Buowps @

ol o Jo P d
() 3 Loees Lo ‘“m

sement expresses a
and orderly approach
hmg-learning situation
&1 ll;?\ride opportunity to develop
all“!" original thinking
planning, creative expressim‘:
o afr;d leadership
OTIers scope for self-digein]:
-discipl
(3) lendstucharacter huild;anE d
" sdulf-tlluvelnpmant e
; evelops imapinas:

197. Of all the iit‘n actors which

BOOKLET ggy
B KB St ¥ TR0 Bor Ledaws

w0 D O 1 e B %

SUpl DeEId RO
UL bt b

- or e § L R L F
(3) I _}u:‘i[ﬂ-::;‘thJjU#uq
"

(4) Sogeb

ity of edueation
nition to national
the quahity,
nce and character of
rs are undoubtedly the mose

influenci
and 1ts

e
@
6.r nificant because ...

1) teachers are real makers of
history

(2) t-:em?hers arc the architects of the
nation

(3) teacher is the soul of school

(4) teachers  have special
responsibility
U o memest ST

SHENOYeRSY mnmyess GG aies
UETOS0 Mo 500k B
SRPEAID .,

(1) 629 cises g stpmses
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198. Democracy is a social organization
all

community enjoy social, political

wherein members of the

cquality. So democracy is an

instrument of social welfare.

(1) Democracy inculcates a sense of
dignity of labour

(2) Democracy 1s to improve
personality

(3) Democracy 1s a catchword of
present society

(4) Democeracy 1s education for

leadership

studies IX'" class answer
ipts were evaluated individually
by three teachers Rama, Catherine
and Jilam. Students got different
scores in each evaluation. Here the
deheiency of the testis ...

(1) vahdity (2) rehability

(3) subjectivity (4) practicability

WS-29/TET cum TRT-511-EM/TM
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(4) Hwﬁ

200. The content of all co

&

nts in the

of cur organization followed

world is gwe@ in a class IX
social s E book. The method
plral method

2) concentric circle method

(3) topical method

(4) semester method

S0 el yecen Horohol
Duewe ko 9 B BND ¥ Ity T
Psp9¥es’ 3oeded N6 el
DB BEPOS er Do

(1) 2oyoeas
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(3) 28> 50

(1) 3535350
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